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Theorew (Anniog- Erdds, 1945): 12 |S| is nfinile Hen 8 is collinear.

LeA S be an integer dictance sek which ic  noncollinear.

Question: How lorge coan (S be ¢
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Let SC [—N.NT integer distonce set.

35 Fronslation and rotokion, WQ can assuwme withour loss of sgmm[ﬂ,g that:
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Theorewm ( G- lliopou lon~ Pehuse, 2024)
1
Lt SC[ENN] be an integer dittance seb | Than there erists o
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line er circle C CIR" such +hok: |S\C[ =O((tosm )

Corollurgz let SCEMNT be onm integer digtonce sok with no 3 st ik
points on a line ond No Y poiats on a Ciccle. Then

1S\ = O(Clogn¥ ).

CorollWB: et S be a noncollinear integer digtonce sek. 10 ISI=N

then : - e ; N ¢ (loglogh)
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- any A e R* g4, E(A) ie orthogenal in L (D) 7

Whot is He size & shruckure o higher - dimens;onal
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Can our method be adapted +o otier long-
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